
.



Inhalt

              

                                                                                                                                     
 

1



2

•

•
•
•
•
• EN 15632-2
•



3

 



4

 
 

   

  



 
        

20
  °

C

 3
0  

°C

300

10
020 20
05030 40 30
012
0

18
0

14
0

16
0

80 40
0

∆
T 10
00

20
0050
0

16
00

12
00

18
00

14
00

80
0

Q [kW]

10 000

1000

500

2000

3000

5000

20 000

30 000

100 000

200 000

63/51.4 mm

50/40.8 mm

40/32.6 mm

32/26.2 mm

10
0

50
30

20
10

50
0

30
0

20
0

4000

40 000

70 000

10
00

20
00

30
00

75
15
0

20
30

50
10
0

20
0

30
0

50
0

10
00

20
00

30
00

50
00

15
40

75
15
0

0,5 m
/s0,4 m

/s0,3 m
/s

0,75 m
/s    

1,0 m
/s

1,5 m
/s

2,0 m
/s

3,0 m
/s

Druckverlust Δp [Pa/m]

M
as

se
nd

ur
ch

flu
ss

 m
 [k

g/
h]

W
assergeschw

indigkeit

5



6

B

 

E

E

H
 

SS

E E

   

 B

 

    

 B

S

    
 i   = 

 PE
 =   

S   [     ]
 

S
 ]



7

  

  

  

 
     



8



9

 



 

 

 

 

 

 



11



Ø

  

12




